Just Keys Trees, Inc 5550 5th Ave Unit 6

FL 33040

Estimate

Date	Estimate #
4/1/2016	218

Name / Address	
City of Key West 3140 Flagler Ave Key West, Fl. 33040	

Project

Description			T	
	Qty	Rate	Total	
PLANT LIST Gumbo Limbo- 45 Gal Jamaican Dogwood- 45 Gal Pigeon Plum- 45 Gal Silver Buttonwood- Standard Form- 45 Gal 12' x 6' PH Spanish Stopper- 45 Gal 12' OA Marleberry- 45 Gal- 10-12' OA Blolly- 45 Gal 10' OA Florida Thatch Palm- 6'CT- container grown Podocarpus Yew- 15 Gal Spanish Stopper- 15 Gal Selection and Delivery From Homestead	Qty 3 3 4 2 2 2 1 4 14 14 1	Rate 390.00 390.00 415.00 415.00 390.00 435.00 390.00 1,000.00 90.00 90.00 700.00	Total 1,170.00 1,170.00 1,660.00 830.00 780.00 870.00 390.00 4,000.00 1,260.00 1,260.00 700.00	
		Total	\$14,090.00	



Q-22520

Mama's Garden Center

111 Overseas Hwy #108 Key West, FL 33040

gena achor 305-296-1617

www.mamasgardencenter.com

Created 4/11/2016 Modified 4/12/2016

Valid for 30 days

Customer

City of Key West Public Works

Smathers Beach Key West, FL US

Shipping Address

1626 Palm Avenue Key West

Contact

Bill Collins (717) 615-1286 (mobile) wcollins@cityofkeywest-fl.gov PO:

Shipping: None

roduct Code	Description	Sell	Qty	Total
3305	Gumbo Limbo 45 gal (Regular \$350.00/unit, 10.00%/unit Discount)	\$315.00	3	\$945.00
6344	Jamaican Dogwood 25 gal **** QUOTE IS FOR 25 GAL, NOT 45 GAL*** (Regular \$250.00/unit, 10.00%/unit Discount)	\$225.00	3	\$675.00
1177	Pigeon Plum 45 gal – 9–11' ph, 2–3.5" cal (Regular \$450.00/unit, 10.00%/unit Discount)	\$405.00	4	\$1620.00
11901	Silver Buttonwood 45 gal (Regular \$550.00/unit, 10.00%/unit Discount)	\$495.00	2	\$990.00
7287	Stopper, Spanish – Standard 45 gal (Regular \$350.00/unit, 10.00%/unit Discount)	\$315.00	2	\$630.00
3199	Marlberry-25 Gallon **** QUOTE IS FOR 25 GAL, NOT 45 GAL*** (Regular \$350.00/unit, 10.00%/unit Discount)	\$315.00	2	\$630.00
4358	Blolly-25 Gallon **** QUOTE IS FOR 25 GAL, NOT 45 GAL*** (Regular \$250.00/unit, 10.00%/unit Discount)	\$225.00	1	\$225.00
6689	Thatch, Green Single 6'ct (Regular \$840.00/unit, 10.00%/unit Discount)	\$756.00	4	\$3024.00



Ouote

Mama's Garden Center

111 Overseas Hwv #108

Key West, FL 33040

gena achor 305-296-1617

www.mamasgardencenter.com

Q-22520

Created 4/11/2016 Modified 4/12/2016

Valid for 30 days

Customer

City of Key West Public Works

Smathers Beach Key West, FL

Shipping Address

1626 Palm Avenue Key West

Contact

Bill Collins (717) 615-1286 (mobile) wcollins@cityofkeywest-fl.gov PO:

Shipping: None

Product Code	Description	Sell	Qty	Total
05468	Podocarpus 'Maki' 15 gal (Regular \$100.00/unit, 10.00%/unit Discount)	\$90.00	14	\$1260.00
06349	Stopper, Spanish 15 gal – 7–8'ph (Regular \$175.00/unit, 10.00%/unit Discount)	\$157.50	14	\$2205.00
Delivery– Far	Delivery (Key West, north of Big Coppit up to Big Pine) CURBSIDE ONLY – Multiple deliveries would be billed at \$65.00 per delivery	\$65.00	1	\$65.00

ANY REMOVALS OR RELOCATIONS OF EXISTING PLANTS OR TREES WILL BE AN ADDITIONAL CHARGE PER MANHOUR AND BILLED AS SEPERATE LINE ON FINAL INVOICE.

DEBRIS REMOVAL (IF APPLICABLE) IS AN ADDITIONAL CHARGE AND WILL BE ADDED TO FINAL INVOICE AT \$37.50 PER YARD OF DEBRIS REMOVED.

Quote is valid for 30 days. Please call us to confirm prices after 30 days of quotation date. Acceptance of the quote requires a 50% deposit, and the balance is due upon completion of the job. We accept cash, check, Mastercard, VISA, Discover, AMEX. A 2% convenience fee will be added for credit card payments over \$1000.00.

MAMA'S GARDEN CENTER POLICIES AND GUIDELINES FOR NEW PLANTINGS

Mama's Garden Center warrantee's trees and plants for a period of 6 months after installation as long as the following

Mama's Garden Center does the actual installation of all plants involved with the job. A proper working irrigation system is in Mama's Garden Center does the actual installation of all plants involved with the job. A proper working irrigation system is in place at the time of install. Specific plants not covered under this warranty include any seasonal flowering ground cover such as a lumpatiens & Vincas and tender ground covers such as Blue Daze, Verbena, Gaillardia, Mexican Heather, Ajuga and Peperomia. Mama's Garden Center reserves the right to replace plants, trees covered under the warranty with substitute species of similar characteristics, size and value. In the event that trees or plants which were ordered for the specific job are not used due to decrease in quantities determined by the customer or Landscape Architect, a 30% re-stocking fee will be accessed, based on the Quoted price. It is the customer's responsibility to obtain any necessary permits and to locate any underground lines, pipes or septic systems and drain fields prior to beginning of job. Mama's Garden Center will not be held liable for any damages incurred due to hidden or unknown lines, pines, centic systems and drain fields. liable for any damages incurred due to hidden or unknown lines, pipes, septic systems and drain fields.

**DISCLAIMER: Although Mama's Garden Center makes every effort to successfully relocate/transplant trees or plants, Mama's Garden Center does not guaranty the survival of such trees/plants and no warranty applies.

Guidelines for Maintaining New Plantings

WATER, WATER, WATER

WATER, WATER, WATER is the state of the stat recommended to fertilize and mulch all plants and trees on a quarterly basis.

Tax

Page 2

Signature

Total

Subtotal

\$915.30 \$13184.30

\$12269.00

Shade Tree, Inc.

P.O. Box 1341 Key West, FL 33041 305-340-8094 shadetreeservices@yahoo.com



Prop. Num

868

Prop. Date

4/11/2016

CITY OF KW TREE COMMISSION KAREN DeMARIE PO BOX 1409 KEY WEST, FL 33041

Note CITY OF KEY WEST TREE ESTIMATE

Quanity	Species	Description	Cost	LineTotal
1	FREIGHT CHARGE	FREIGHT CHARGE FOR SHIPPING PLANT MATERIALTO KEY WEST.	\$650.00	\$650.00
14	SPANISH STOPPER	DELIVER TO KEY WEST DROP OFF LOCATION 15 GALLON	\$65.00	\$910,00
14	PODOCARPUS	DELIVER TO KEY WEST DROP OFF LOCATION 15 GALLON	\$48.00	\$672.00
4	THATCH PALM	DELIVER TO KEY WEST DROP OFF LOCATION $\label{eq:condition} 6^{\circ}\text{C}\Gamma.$	\$525.00	\$2,100.00
1	BLOLLY TREE	DELIVER TO KEY WEST DROP OFF LOCATION 25 GALLON (LARGEST AVAILABLE)	\$225.00	\$225.00
2	MARLBERRY TREE	DELIVER TO KEY WEST DROP OFF LOCATION 25 GALLON (LARGEST AVAILABLE)	\$275,00	\$550.00
2	SPANISH STOPPER	DELIVER TO KEY WEST DROP OFF LOCATION 45 GALLON	\$325.00	\$650.00
2	SILVER BUTTONWOOD	DELIVER TO KEY WEST DROP OFF LOCATION	\$350.00	\$700.00
		45 GALLON		
4	PIGEON PLUM	DELIVER TO KEY WEST DROP OFF LOCATION 45 GALLON	\$325.00	\$1,300.00

3	JAMAICAN DOGWOOD	DELIVER TO KEY WEST DROP OFF LOCATION	\$525.00	\$1,575.00
		45 GALLON		
3	GUMBO LIMBO	DELIVER TO KEY WEST DROP OFF LOCATION	\$275.00	\$825.00
		45 GALLON		
Proposal Total \$				
any un	sprinkler systems, or wir Iderground utilities prior	ponsible for any underground damage done during worling of any type. Customer is responsible to inform Shade to commencement of work. Signature denotes acceptancion of work unless otherwise noted.	Tree of the lo	estion of
	SIGNATURI	E:	_DATE: /	/